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M.Tech — CE- Set-A
CIVIL ENGINEERING
: i Poigson's ratio of steel is taken as
(A) 047 (B)0.25 {C)D.3 {D) 0.5

2. A point in a body consists of linearly elastic material, subjected to siress
100M/mm* & BON/mm® along major and minor axis. The maximum shear

stress is equal to
(A} 100N/mm” (B) 80N/mm?
(C) BON/mm? (D) 20Mimm*

3. A thin cylinders 200mm diameter, closed at ends subjected to internal
pressure of 10M/mm® What is the maximum shear stress that occurs in wall of
the cylinder if thick of wall is Smrm
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